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struct sockaddr_un sun;

int val;
D) listen 1) listen struct msghdr msg;
2) connect 2) connect struct iovec  vec;
O se || mmrm ™
W N struct cmsghdr cm;
RN NS char control[CMSG _SPACE (sizeof(int)];
\ 3)"accept A 3) anept Ay } control un;
\ N \
Y 5) close struct cmsghdr *cmptr;
Y T = sun.sun_family = AF_UNIX;
| : ) s strcpy(sun.sun_path, path);
\ ! 4) forking S
k o S~
\ ~ Y T ’()‘ N 2= msg.msg_name = &sun;
\ o — o .
\ ! msg.msg_namelen = sizeof(sun);
\ \
\ .
\ o= vec.iov_base = ptr;
\ . _ .
" =21 w/ Unix domain Socket Zf:;;%glffov ) letf:c
msg.msg_iovlen =1,
msg.msg _control = control_un.control;
msg.msg_controllen = sizeof(control un.control);
msg.msg_flags =0;
O ==
== cmptr = CMSG_FIRSTHDR (&msg);
AMH]A 9 forkingdt= R 2A AFA o ulg AA cmptr—ﬁcmsg_]eve] =§Oc§\71 sglcc‘;]gTTS;
cmptr—/cmsg_type = [ ’
LA 7 T8 (AAEAL; 2], CPU) Z2Aast Bu| fA o o]3] B4 cmptr-)cmsg len = CMSG_LEN(sizeof(int));

*((int *) CMSG_DATA(cmptr)) = fd;
AR AL 4 T HE3E 2ARPRE ol
return(sendmsg(ufd, &msg, 0));
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#define Hashlsp(d,x) (atoi(&(d)[0]+TER_ID LEN-4)%x)
#detine HashOsp(d,x)  (atoi(&(d)[0]+TER_ID_LEN-4)%x)
instream outstream
ter_id ter_token user_id user_token
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ISA | OSA | 944 | vOC
ter_id O O O
ter_token O O
user_id O O O
user_token O
mac O O O
RTSP URL O
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#define sockHashFunc(d) (d) % MAX HASH)
#define keyHashFunc(d,]) (atoi(&(d)[0]+1-4)%MAX_HASH)

typedef struct {
pthread mutex t lock;

uint8 t  privl0l;

uint8 t mac [MAC LEN+4];

uint8 t ter id [TER_ID LEN+4];

uint8 t  ter token [TER TOKEN LEN+4];
uint32 t user_id;

uint8 t user_token [USER_TOKEN LEN+4];
char url[SHORT URL _LEN+4]; // URL

char sdp[BUFSIZ]; // SDP
nt retry;

int up_bytes;

int up_packets;

int dn_bytes;

int dn_packets;

struct list head ul;, //ter id
struct list_head ttl; // ter token
struct list head uil; // user_id
struct list_head utl; // user _token

struct list_head csl; // control socket
struct list_head ssl; // stream socket
struct list_head rsl; // relay socket
struct list head tsl; // trigger socket

sockh_t *csock; // control

sockh_t *ssock; // stream

sockh_t *rsock; // relay (ISP (=) OSP)
sockh_t *tsock; // trigger (EB)

} keyh_t; // AFEGA]
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#detine MAXCB 10

void cbfn(char* d)
{

struct timeb t;

ftime(&t);
printf("%d. %03d : (<) %s Wn' t.time,t.millitm,d);

}

int main()

{
int td[MAXCBIi;
char p[MAXCBI[20];
struct timeb t;

for(=0,i{MAXCB;i++) {
ﬂ'l'IHC ( & l') s
sprintf(pli], "Hello—%02d’,1);
tid[i] = set_ch_timeout (cbfn, pli], 1000*(+1));
printf("%d. %03d : (+) %s (callback after %7.3f sec)Wn',
t.time, t. millitm, p/i], (Aoat) 1000 * i+1)/1000);

/
while(1) sleep(1);
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main.c 9 2Igr

init.c Z7|}Y F2FE (A2F/DB/Z2/FFEF/ A 298]
cock.c E=B]FE (LXAFH F2])

command.c HAWE, FFojxa]F&

Fsm.h 7 F§E]7] 7] (Finite State Machine) §°] ¥ Z9ef+3]3
config.c BFHH U5

config.h B34 F

groj B2 4

db.c gJo]E]8]o]~ ODBC wrapper/API 8+
hash.c/h 2E2]| G A g+

list.h BJEAAY ghF ARG o] A2 XY
cctv.c/h CCTV B8 APl/Elo]Ha]a]

rtsp.c/h RTSPE&E Zafo] 1 E/A]H] API g
timefmt.c/h ZF-& A7 ZWEH 2 o
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seed.c/h e FE o+
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typedef struct {
it  status;
it events
int  (*chbFunc)(void*, void*);
it next;
} sm_t;

ISP/OSPol| A4 Relay negotiationst= F-3H3E 714l At=27 9

static fsm_t rfsm[] =

{
{OPEN, UP, chSendTypeReq, SENT(REQ(SEND_TYPE))},
{SENT(REQ(SEND_TYPE)), RCVD(RES(SEND_TYPE)), NULL, RCVD(RES(SEND_TYPE))},
{RCVD(RES(SEND_TYPE)), RCVD(REQ(SDP)), chUserTokenReq, SENT(REQ(USER_TOKEN))},
{SENT(REQ(USER_TOKEN)), RCVD(RES(USER_TOKEN)), NULL, RCVD(RES(USER_TOKEN))},
{RCVD(RES(USER_TOKEN)), RCVD(REQ(STRM_START)), chStartStrmResp, ~ESTABLISH},
{ESTABLISH, RCVD(REQ(STRM_START)), chStartSermResp, ESTABLISH},
{ESTABLISH, RCVD(REQ(STRM_STOP)), chStopStrmResp, ESTABLISH},
{0, 0, NULL, 0}




